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Basic or key
industries are those
1. Aircraft industry which supply their
2. Iron industry products or raw
. N - ) terials t
01 McQ Which of the following is a basic industry 3. Television Industry 2 Ak
4,

All of the above

goods e.g. iron and
steel, copper
smelting and

aluminum smelting.




1. Regional concentration of high tech a society with a
industries concentration of
02 McQ Which of the following is/ are characteristics of 2. Presence of highly specialized industries technology-based
technopolis 3. Presence of self sustaining industries bus'neﬁse§ oran
4. All of the above emphasis on
technology.
The primary
objective was to
utilize the
indigenous
resources of the
hills effectively
by focusing on
the
. development of
1. Horticulture .
horticulture,
1. Hill area devel t does not includ 2. Poultry lantati
. Hill area development programme does not include antation
03 McQ P prog 3. Small scale industry P
. crops,
4. Llarge scale industry

agriculture,
animal
husbandry,
poultry farming,
and forestry,
and promoting
small-scale and
village
industries.




1. (a) Both A and R are true and R is the
correct explanation of A
Assertion : (A) Many industries benefit from nearness to a
leader industry 2. (b) Both A and R are true, but R is not the Location of industry
04 R&A . . .. . . . . .
Reason : ( R) Linkage between industries increases saving correct explanation of A is applicable on this
and profit for all the industries 3. (c) Ais true, but R is false
4. (d) Aisfalse, but Ris true
Read the following features of cottage manufacturing and It is the smallest
choose the correct option 1. Only1,2and3 are correct unit of
1. Place of manufacturing outside the home 2. Only 2,3 and 4 are correct manufacturing,
05 McQ 2. ltis the smallest unit of manufacturing 3. Only 1,2 and 4 are correct Use Io'cal raw
3. Use local raw material 4. Only 1,2 and 4 are correct material,
4. Simple tools are used Simple tools are
used
1. (a) Both A and R are true and R is the
correct explanation of A
Assertion : (A) Over 40% of the GDP of world is generated
by tourism
06 R&A [ Reason :(R)As a country develops, the number of people 2. (b) Both A and R are true, but R is not ::(:Ir:\:\(tjig:\

working in the primary sector declines whereas those in
the tertiary sector increase

the correct explanation of A
3. (c) Ais true, but Ris false
4. (d) Aisfalse, but Ris true




Outsourcing has resulted in the opening up of a large
number of call centres in India, China, Eastern Europe,
Israel, Philippines and Costa Rica. It has created new jobs

Outsourcing is the
business practice of
hiring a party

) i o ) 1. Training of personnel outside a company
in these countries. Outsourcing is coming to those 2. Manufacturing to perform services
07 SOURCE countries where cheap and skilled workers are available. ) or create zoods that
BASE These are also out-migrating countries. With the work 3. Customer support g. .
available through outsourcing, the migration in these 4. Research were tradl.tlonally
countries may come down. performed m-hou.:se
by the company's
Q. Which of the following activities are usually outsourced own emsiLof\f/ees and
1. Increase in level of technology I:.)ecrt?ase in out
. . . . 2. Decrease in out migration migration because
08 Source Outsourcing may result in which of the following ] . human resources
base advantages for developing countries 3. Increase in level of education not found suitable
4. Increase in foreign investment job according to
their skill
Which of the following factors determine the places that 1. 12and4
tourists visit o .
1. Climate 2. 1,3and4 Climate,
09 MCQ 2. Landscape 3. 1,2,and 3 Landscape,
3. History 4. All of these History ,Cost
4. Cost
1. Digboi
2. Koyali .
. . . . Barauni
10 McQ Which of these is a market based oil refinery 3. Barauni
4. Tatipaka




